ML Meguro Language Center

JLPT N4 Kanji Quiz - 10/34 Answer

1 b5 kB {LFD Fliz FeyZ7LTIIZEN,

(1) —J ACSY/NN 2 DD 3 nhE 4 0HED
(2) = 1 LZE) 2 LZ¢ 3 LB 4 LB
(3) ZFiE IS RAY/IT SRRV 3 VT 4 <7

2 HEEO MXE fioT Lo~ELL,

(1) XEHE 1 EHLxmi 2 LHLIIOMA 3 LLinA 4 LLXOMA
(2) #h[x 1 b 2 B9 3 b9 4 B9
(3) fE~T 1 9<»T 2 25T 3 2T 4 DiF-T

fl 3 BABE BEREL DALY 72~7h LELL,

(1) BAML 1 5% 2 HIK 3 g %8 4 I3
(2) DOATEY 1 &7V 2 BATIEY 3 RATZED 4 7=
(3) 7=~7=p 1 &7=0 2 AB72Y 3 k70 4 R0

fl4 2W23% A2 2&0 BT ZiFEAE e EL,

(1) 2R 1 [ 2 B 3 B 4 P

(2) 2% 1 & 2 BR 3 B 4 &

(3) ZiTA 12 2 T 3 ik 4 TR
M5 DAEWN BEEL ZWLLIZ < GHELTEEN,

(1) bATZW 1 158 2 [H/E 3 W& 4 [

(2) BEIH 1 Kb 2 HEH 3 kD 4 B

(3) 7=wL 1 KfE 2 K1E 3 KM 4 K3E



